Cuctema MeHeaxMeHTa Kadectea (CMK) Quality management system (QMS)
000 «Bons» cepTuduumupoBaHa of LLC «Volyan is certified
Ha cooTBeTCcTBUE for compliance with

Tpe6oBaHWUAM standard of
cTaHaapTa 1SO 9001:2008
ISO 9001:2008 a i 5 % L 5

CepTuduumnpoBaHo Certified by
Pycckum Pernctpom Russian Registry

®

KOMMNDAHMUSA

BONA

NMPOU3BOACTBOTENNULY

OPOPTOUYKA
Mmoaenb 2023
AnA Tenauubl «MPUMA 3»

SMALL WINDOW
model 2023
for the greenhouse «PRIMA 3»

AaTta U3rotoBAEHUA:
Date of manufacture:

MpeanpuaTue - narotosutenb: 000 «Boas»141983, 1. AybHa MockoBckol 06-
Aactu, nep. CesepHbii A.8. MpeanpusTUE - 3rOTOBUTEAL HECET OTBETCTBEH-
HOCTb 3@ KayecTBO NPOAYKUMK B cooTBeTCTBUM € TK PO.Mpeanpuatue octas-
ASIEeT 3a cOBOV NPaBO Ha BHECEHWE U3MEHEHUI B KOHCTPYKLIMIO GOPTOUKH.

Manufacturer: VOLYA LLC per. Severny, 8, Dubna, Moscow regjon, 141983,
Russia.The manufacturer bears responsibility for quality of products in
accordance with RF CC. The manufacturer reserves the right for the small
window engineering design changes.



C60pKy M 3KcnayaTauuio GpOpPTOUKM CAeAyeT OCyLLECT-
' BAATb CTPOro B COOTBETCTBMM C MHCTPYKLUEHN U NpaBUAAMU
> 3KCNAyaTauMM, M3AOKEHHbIMU B TEXHMYECKOM nacnoprte.
| =—— TexHWueCKuHi NnacnopT 06A3aTeAbHO COXPaHUTb.

Perform assembling and operation of the small window in strict
accordance with the manual and operating rules stated in the technical
certificate. Please keep this technical certificate for further reference.

OnucaHue
dopTouka npepHasHayeHa AAA MPOBETPUBAHMUA TEMAULL. YCTaHaB-
AMBaeTcsa ToAbko B Tenaunuy «[MPUMA 3». Kapkac popTOUKM M3roTOB-
AEH U3 OLMHKOBAHHOW CTaAu U cobupaeTcsi ¢ MOMOLLLIO BUHTOB U
raek. MokpbiTve GopToukn obecneunBaeTcs Bbipe3aHHbIM U3 TENAU-
Ubl NoAvKapboHaTOM. B KOMNAEKT GOPTOUKU BXOAAT BCE HEOOXOAU-
Mbl€ 3AEMEHTbI KPEMNAEHUA.
Description
The small window is designed to ventilate greenhouses. It is
installed only in the greenhouse «PRIMA 3». The frame of the small
window is made of galvanized steel and is to be assembled with
screws and nuts. The covering of the small window is provided by
polycarbonate, remaining from the greenhouse covering. The small
window kit includes all the necessary fastening elements.

MpaBuAa aKcnAyaTauuu

Mepea HayanOM 3KcNAyaTaLuMn GopToUuKa AOAKHA ObiTb cobpaHa u
yCTaHOBAEHA B TEMAMLE B COOTBETCTBUU C UHCTPYKLMEN.

dopToUKa He AOAKHA NOABEPraTbCA BO3AEWCTBMAM, KOTOPbIE MO-
ryT CO3AaTb OCTATOUHbIE AePOPMALIMM KapKaca U NOKPbITUS.

Operating rules

Before operating the small window must be assembled and
installed in the greenhouse in accordance with the manual.

The small window should not be exposed to effects that can create
permanent deformation of the frame and coating.

FapaHTUHHbIE 06A3aTeAbCcTBa

Cpok NpeAbsABAEHUSI NPETEH3MIM — 12 MecALeB CO AHA MOKYMNKHU.
lapaHTUiHbIE 06513aTEALCTBA HE PACNPOCTPAHAIOTCSA Ha CAyYau:
1. ycTaHOBKa GOPTOUKM C HapyLLEHUEM TPebOBaHUM MHCTPYKLIMK
2. HapyLleHWe NpaBWA 3KCNAyaTaLUmn
3. yparaHbl, Apyrue CTuxuiHble 6eACTBus.

Warranty liabilities
Claim presentation period is 12 months from the date of purchase.
Warranty liabilities do not apply to cases of:
1. the small window installation with violation
of requirements of the manual.
2. violation of the rules of operation.
3. floods, hurricanes and other natural disasters.

Ne | arking denomination lengthm uigfﬁ}.
1-i naker/ 1-st package —
1] 1 | e 4 079 2
2| 5 |Veriea 4 033 2
3| 3 |smandagona 4 08 | 1
4] 4 |HEerat™ 8 0.86| 1
5] 2 |phin 4 098 | 2
6| - |Retamer 04 | 1
7| 72f |Ucacent 020 2
8| 6f |loiontarciest o 096 | 2




HauMeHoBaHue AAMHA,M
denomination length,m

KOA-BO,LUT.
q-ty, pes.

YNAOTHUTEAD NPOEMA

Opening seal

0.94
ﬂ 0.37

DduKeupytoLas NAaHKka

Fixing strip

, 0.93

11

DukcupytroLLan nAaHka 0.34

Fixing strip

NN ININ

2-it naket / 2-nd package

12

KpoHLTENH
Angle

13

MeTAs BepxHAA
Top hinge

'
\;__f‘»

14

MeTAa HUXHASA
Botton hinge

)

15

KpoHLWTENH
Angle

7

16

TopueBoM 3aXum A -

End wall clamp

—

I [FENY O N [

17

BuHT M4x8
Screw M4x8

0 inch 1
|||1I||||-|I|||I\i I|||I|:
|!III|IIII|I[II II!']!I!!|IIII|IIII| III|ZIII|
Ocm 1 v 3 4

18

BuHT M5x10
Screw M5x10

YARNARAARAS

25

19

BuHT M5x14
Screw Mbx14

24

20

BuHT M5x35
Screw M5x35

10

21

BuHT M5x45
Screw M5x45

22

CO CBEPAOM

Camopes 4,8x19 T
TS
4.8x19 self drilling scre:

23

fanka M4
Nut M4

24

fanka M5
Nut M5

57

25

Lock nut M5

laitka cTonopHas @

26

LLlai6a 32x5
Washer 32x5

27

CkoTty
Scotch tape

28

3araylwka naactmkoBast

Plastic plug




1.1. Cobepute Kapkac GpopToukn 3 petaneit Ned, Ne3, Ned, Ne5.
NeS Assemble the window frame from the parts of Ne 1, Ne3, Ne4,
4 .
1.2. YcTaHOBUTE HWKHIOK NETAIO (2 LUT.) Ha KapKac.
Place the bottom hinge (2 pcs.) on the frame.
1.3. YcTaHOBUTE KPOHLLTENH Ha KapKac.
Install the angle on the frame.

TR Tl
package 133 package 1if package 1:: package 1:

1 2uEs b 2w g e g1

naketr .
package 2

oqur g
pc. .

0

Neo12 naket I
package 2

M5x10 \l\ﬁ:')

L
M5x10 M5



2.1. Ha petanb Ne2 yctaHOBUTE BEPXHIOID METAID.
On the part Ne2 install the top hinge.

2.2. Ha petans Ne2 YCTAHOBUTE KPOHLUTEWH.
On the part Ne2 install the top angle.

.. tNe13 naxer
package

B wr.
: f“ 1pc.

eeesecscscccccccccce e

P | & wT.
K,m \‘/ pc.
M5x10 M5 -

Nc_>5naKeT
package

2 /@1y

b & 2 o
M5x10 M5

:Nel15 naker
package

inA
pc.

/
/rN95 nakert

package

2 /1y

3.1. ®oprouka ycTaHaBAMBAETCS B BEPXHIOW YacTb 6OKOBOro Npo-
éMa Kapkaca TenAauupbl. B 30He ycTaHOBKM GOPTOUKU BPEMEHHO
ybpaTb KpenaeHue noankapboHata cteHku. CHayana ycTaHaBAWBa-
€TCA HWXHWI MPOroH B YNop K NOAKOCaM TenAuLbl. Bropoi nporoH
ycTaHaBAMBaeTCs Ha pacctosiiim 350 MM OT HUXKHETO NPOroHa.

The vent is installed in the upper part of the side opening of the
greenhouse frame. In the vent installation area, temporarily remove
the polycarbonate fastening of the wall.First, the bottom purlin is
installed against the struts of the greenhouse. The second purlin is
installed at a distance of 350 mm from the bottom purlin.



naket
package 2

Bua nsHytpum
View inside




4

4.1. BuipexbTte NpAMOYroAbHOE OKHO B MOAMKapBoHaTe, KOHTYpP KO-
TOPOro NPOXOAMT MO Kpaam petanei Ne2 n 22 mm ot petann NedO.
Cut a rectangular window in the polycarbonate, the contour
of which passes through the edges of parts Ne2 and 22 mm from
part Ne10.
4.2, TpukneiTe CKOTY Ha Kpas NoAnkapboHaTa (AAA 3aLUMThI
COTOBOrO NoAMkapboHarta).
Adhere adhesive tape to seal the edges of polycarbonate (to
protect the polycarbonate honeycomb).

“eseccssccccccssssscce

4.2, - No27 naker
/_’b\‘ package 2 :
IS

noAMKapboHaT oo
polycarbonate

AVHUSA pesa
1 cutting line

Bua nsHyTpu
View inside

\N°27I'IaK6T
package

eesceccccssssssccces

5.1. BuipesaHHblit M3 TENAULbI TOAMKAPOOHAT HAAOXKUTL Ha KapKac
$OPTOUKM, 3aKPeNnUTb MO YrAaM Kapkaca BUHTaMMW, YyTOMUB FONOBKY
BWHTa B NoAnkapboHarte.

Put the polycarbonate cut from the greenhouse on the window
frame, fix it at the corners of the frame with screws, drowning the
screw head in the polycarbonate.
5.2.06pesatb noaMkapboHaT no Kapkacy GOPTOUKMU (AOMYCTUMBbIN
npunyck 5 mm). O6KAenTb NOAMKaPOOHAT CKOTYEM (3aKPbIThb COTbI).

Trim the polycarbonate along the vent frame (permissible
allowance is 5 mm).Tape up the polycarbonate panel with adhesive
tape (to protect the cells).

5.3. YcraHoBHTE OKAHTOBKY Ha MOAMKapOOHAT GpOPTOUKM.

Install the window lining on the polycarbonate of the vent.



T.
O (3
\_W & pc.
M5x14 M5

noAvkapboHarss,
polycarbonate \\

; ‘Ne27 narer

5.2. / package
1 N R s
NOAMKAPOOHAT. 3 ... ............

polycarbonate

§'N1:57'"n;;;°""\.

package Z :

"

No8 naker
package

' >

:Ne7 naker
package

He nepeTaruBaiite KpenexHble BUHTbI, UTOObI M36exaTb paspylue-

HWS COT NoAvKapboHaTa.

Do not overtighten the polycarbonate fastening screws to avoid
. crushing of polycarbonate and cell destruction.




6.1. YcraHoBUTL MO NEPUMETPY BbIPE3A TEMAWLBI YIIAOTHH-
TeAb NPoéma, HapeBan ero Ha cpes noaMkapboHara. Kpas
BEPXHEro YNAOTHUTEAA! HYXXHO BbIMYCTUTb 3@ KOHTYP BbIpe-
3a, ANl OTBOA@ AOXKAEBOM BOAbI. AAA 3TOMO HYXHO cpe3saTb C
060X KOHLIOB YacCTb YNAOTHUTEASA.

Place the seal on the contour of the cut, putting it on

a cut of polycarbonate. The edges of the top seal need to =

be released outside the cut-out contour to drain the rain ’5 T
water. To do this, cut off the part of the seal from both ends.
6.2. YcTraHoBUTE GUKCHPYIOLLIME NAGHKW. 3aKpenuTe noAMkapboHar
Wwarnbamu 1 camopesamu.

Install fixing strips. Secure the polycarbonate with washers
and self drilling screw.

6.2. E""""""""".E
< EN9 pacikage 1
\l —

package

wr. ¢
_ pc.

LT,
¢ pc.

iy ) ©
M5x35 5x32 M5

H LWT.
:@*\nvnn*—xl DCE
4.8x19 :

Bua cHapyxu
External view

®

. naket H
Ngilpackage 1

wr.
pc.

S QnaKeT
iNe9 package




7

7.1. YcraHoBuTe GOPTOUKY, COEAUHWUB 06€ YacTu NeTeAb BUHTaMM
CO CTONOPHbIMU rarikamu M5.

Install the small window by connecting both parts of the hinges
with screws with lock nuts M5.
7.2. TMpukpenute GUKCaTop K GOPTOUKE.

Attach the retainer to the vent.

Q) 1 ur
M5x45 M5
7.1 g

M5x45

Bua n3HyTpH
View inside

:Ne28 naker
5 package 2

: UJTE

M5x35 M5

N°6 naket
package 1



